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In 1-3, find the derivative of the function at the given
value of x. Use the algebraic definition to find the equation of the derivative for each function.

_ N Show your work on another piece of paper.
1 f(x) =3 + dix =2 \2

2. glx)=-12x + 8ix =5 "(l

o hxy=22:ix=7 O

4. Letf(x) = -2x* + x — 3
a. Compute f'(0). b. Compute f'(3).

\ -

§. The typical number of mosquitoes m(r) n hundreds of
thousands in a certain county during the month of
Tune is approximated by m(r} = 8r — r 2 where r
1s the average total rainfall for the month in inches.

Use the algebraic definition to find the equation of the derivative for the function.
Show your work on another piece of paper.

a. Find the derivative of m whenr = 2. L‘

b. What does your answer to part a mean?

Sen &3 (%uo'ka& peeps.
6. The hcight h i feetof a smali rocket 4 seconds after launch

Use the algebrazc definition to find the equation of the derivative for the function.
Show your work on another piece of paper.

a. Find the instantaneous veloeity at ime 1 = 5, 'L 0 & /S
~
—'l i -
b. Find the instantaneous veloeity at tme 7 = 14, 23 "'3’,/ >3
c. Find the instantaneous velocity at time 1 = 10, d g‘é/ j4
Al

d. Arwhat time does the rocket reach s ‘() e "\99
60 2
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7. A pebble is dropped from a cliff 60 feet high. The height of
the pebble in feet above the ground at time 7 seconds is
given by h(r) = -16r + 60.

Use the algebraic definition to find the equation of the derivative for the function.
Show your work on another piece of paper.

a. Find the instantaneous velocity of the pebble -

at time + = 0.5 second, IQ fF+ /S
b. At what time does the pebble hit the ground? t ~ L. 14 SfamJg
¢. Find the instantaneous velocity of the ball at - 7

the moment just before it hits the ground. 6.4 S:t /S

8. Refer to the graph of fat the B Ll
right. Give a value ot x for e L0
which f'(x) is b -
. e

. ! i
& ™ positive. X 4 -t
o‘)} b. negative,  X=L i
\lb(\{ -_‘ { - O 'Jj'....,
c' Zel'o. y Ll e |‘“_ii-“ -

Lk [

9, Refer to the graph of g at the
right. Estimate g for each
value of v given below.,
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b. vy = -1

-

O
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c, vy =4
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